REfb/MEFREHBRSRFRERR (FLEE2K) &\
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1 2 3 4 5 TEERESE ENEBESE 10 11
BEALBIEG | 5| BEAERE | BEUBHEE g m o= | BEFCHUE | MANEEE o8 B |1 AREORE |8 M |IFEEORE |® & &| B E®
BHE (3+10) (4+5+6+8) pEsmK GREDHRE) (7%EL) | E2H-EOH (FEd) |z2H-EOK (2—3) (38+2)%
[ ER 2R ] 5 38,294 38,105 27,727 22,985 4,529 205 8 10,378 72.76
EWUWHARRE || » 41,209 41,043| 28,939 23,807 4,923 207 1 2 12,104 70.51
it 79,503 79,148 56,666 46,792 9,452 412 1 10 22,482 71.59
Hhig Rl £ &
. 1 2 3 4 5 FTHEERERESE ENBEH 10 11
%éfg%;ﬁi IS BEANLE | EXLUAEEE (g = x| BEMICETS | HEHERER 6 # B | TFREORE 8 # B |ITREDORE ZE O E B E X
BRE (3+10) (4+5+6) | pEspK (REORE) (7EEL) | ERHEOR (0FEL) |EB2H-BEOHK (2—3) (3+2)%
5 8,985 8,911 6,484 5,147 1,132 205 2,427 72.76
KRB % 9,586 9,540 6,764 5,324 1,233 207 1] 1 2,776 70.90
it 18,571 18,451| 13,248 10,471 2,365 412 1 5,203 71.80
5 4,260 4,249 3,007 2,560 447 1,242 70.77
K 1L thish % 4,739 4,726 3,212 2,772 440 [ —— 1514 67.96
it 8,999 8,975 6,219 5,332 887 2,756 69.29
5 8,577 8,563 6,422 5,227 1,195 2,141 75.00
IR Hthist % 9,212 9,191 6,656 5,265 1,391 T — | 2535 72.42
it 17,789 17,754| 13,078 10,492 2,586 4,676 73.66
5 15,095 15,006 10,689 9,206 1,483 4,317 71.23
§3ch hist x 16,116 16,031 11,054 9,539 1515 T T—— | 4977 68.95
it 31,211 31,037 21,743 18,745 2,998 9,294 70.06
5 708 707 592 440 152 115 83.73
1L FA 35 % 772 772 643 467 176 T | 129 83.29
it 1,480 1,479 1,235 907 328 244 83.50
5 650 650 525 405 120 125 80.77
A Hhis; % 765 764 608 440 168 T 156 79.58
# 1,415 1,414 1,133 845 288 — 281 80.13
] 38,275 38,086] 27,719 22,985 4,529 205 [ —0J] ——_| 10367 72.78
ING % 41,190 41,024 28,937 23,807 4,923 207 ] ] 12087 70.54
it 79,465 79,110 56,656 46,792 9,452 412 1 22,454 71.62
1 2 3 4 5 TEERESE ENEBESE 10 11
I§ mEohEEALE| BruaaEs |5 = = | &EWcsts | seagEs (e & |TFEBEoRE [s& % |sFTEORE |®T £ BF| £ E %
o EE A B8 E (8+10) (4+5+6+8)| pEEmK (REDREE) (72EL) | ERMH=EOH (0EED) | &R -EOHK (2—3) (3+2)%
2EEHRS (3 19 19 8 8 11 4211
B 19 19 2 2 17 10.53
it 38 38 10 10 28 26.32




